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Answer either in English or in Assamese

Answer the following questions 1x4=4
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Which is the best measure of dispersion ?
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The value of correlation coefficient (r) lies between
______ and -----——-. (Fill in the blanks)
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What is the range of probability ?
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Mention one method of collecting primary data.
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Answer the following questions (any three) 2x3=6
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Write four characteristics of an ideal measure of central tendency.
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What is the secondary data ? Mention any two sources of secondary
data.
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Two coins are tossed. Find the probability of getting
(1) both head and (ii) one head and one tail.
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What is population ? Give example.
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Answer the following questions (any two) 5x2=10
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Write a note on Diagrammatic representation of data. 5

foqg 2o O TP @979 OGT (BT forall |

Define arithmetic mean (AM), geometric mean (GM) and harmonic
mean (HM). Show that AM x HM=(YGM)?
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(M43 (T AM x HM=(VGM)? 1+1+142=5
Find mean and variance of binomial distribution.
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Answer any one from the following questions 10x1=10
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Define correlation with example. Mention different properties of
correlation coefficient. Show that -1<r <+1.
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ST T -1<1r < +1. 2+4+4=10

Discuss different measures of dispersion. 10
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